Math 72: Selected Review Chapters 7-8

Solve the equations for all complex solutions.

1) V2x—5=3 10)Vx+2-Vx+9=7
2) x2=9 11)2x%2 +4x—-6=0

3) 2x—5)/2=-3 12) 2x —5)/3 =3

4 Vx+11+3=x+2 13)¥2x=5=3

5) x2=3 : 14)3x2+2x—4=0

6) 2x—-5)"/3=-3 15)2x/3 +4x3 -6 =0
7) V2x—5=-3 ' 16)V2x—5=3

8) x%2=-3 17)3(2x — 4)%2 = -6

9) 4x3-3=29 18)3x2+2x+4=0

Find all intercept(s) of the function.
19) f(x) =2x%+4x—6
20) f(x) =3x2+2x—4
21) f(x) =3x2+2x+ 4

~1/2 1/3

22) Simplify (22X~

16x1/3
x~1/3 )

x~3/2
+ (64x-1/2)
23) Because of the increase in traffic between Springfield and Orangeville, a new road was built to connect
the two towns. The old road goes south x miles from Springfield to Freeport and then goes east x+3
miles from Freeport to Orangeville. The new road is 9 miles long and goes straight from Springfield to

Orangeville. Write and solve an algebraic equation to find the number of miles that a person saves by
driving the new road instead of the old road. Give an exact answer and then round to the nearest tenth.

Springfield

Freeport Orangeville
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